
 

INSTALLATION INSTRUCTIONS 
SHOT CLOCK SUPPORT (EACH) 

No. SCS00512 for Daktronics # BB-2140 
on 6-5/8"∅ Backstop Mast with or without Camber 

 
This adjustable shot clock support kit is used to suspend a Daktronics # BB-2140 shot clock from a Porter 6-5/8"∅ ceiling-suspended 
basketball backstop mast with or without a camber.  See Parts List and Detail "A" for installation details. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 INST 00441 048 
 2008  PORTER ATHLETIC, INC.  ALL RIGHTS RESERVED. 4-1-2008 
 

PARTS LIST 
 Item No. Part No. Qty. Description Item No. Part. No. Qty. Description 
 1 FRME 00394 030 2 1 Shot Clock Support Tube 7 HDWE 01124 0E0 4 3/8" x 1" Lg. Hex Head Cap Screw (Grade 5) 
 2 FRME 00425 002 1 Shot Clock Support Base 8 HDWE 01204 0E0 4 3/8" x 1-3/4" Lg. Hex Head Cap Screw (Grade 5) 
 3 CLMP 00007 002 2 Half Clamp 9 HDWE 04002 0E0 8 3/8" Lock Washer 
 4 UBOT 00006 0E2 1 5/8" U-Bolt 10 HDWE 03002 0E0 8 3/8" Hex Nut 
 5 HDWE 04006 0E0 2 5/8" Lock Washer 11 PCAP 00014 002 1 2-3/8" Tube Cap 
 6 HDWE 03012 0E0 2 5/8" Hex Nut 
 

Detail "A"

15

4

2
38910

6

11

65
8"Ø MAST WITH OR WITHOUT CAMBER

1097

DAKTRONICS
# BB-2140

CABLE PASS-THRU



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Porter Athletic, Inc. 
2500 South 25th Avenue, Broadview, IL U.S.A., 60155 

Toll Free: (888) 277-7778 • Phone: (708) 338-2000 • Fax: (708) 338-2060 
www.porterathletic.com 

 
 SAVE THESE INSTRUCTIONS FOR FUTURE USE 

THIS WARNING IS GIVEN IN COMPLIANCE 
WITH CALIFORNIA’S PROPOSITION 65: 

WARNING 
This product contains chemicals known to the 

State of California to cause cancer, birth defects 
or other reproductive harm. 

apenick
Rectangle

apenick
E


	Installation Instructions
	Shot Clock Support (Each)
	No. SCS00512 for Daktronics # BB-2140
	INST 00441 048
	Porter Athletic, Inc.

